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, 1594 -  94,  
 94) 

 
 

 
 

 
,  

01   35   69 1 31 61 76 91 111 126 145 165 185 205 
02   36   70 2 32 62 77 92 112 127 146 166 186 206 
03   37   71 3 33 63 78 93 113 128 147 167 187 207 
04   38   72 4 34 64 79 94 114 129 148 168 188 208 
05   39   73 5 35 65 80 95 115 130 149 169 189 209 
06   40   74 6 36 66 81 96 116 131 150 170 190 210 
07   41   75 7 37 67 82 97 117 132 151 171 191 211 
08   42   76 8 38 68 83 98 118 133 152 172 192 212 
09   43   77 9 39 69 84 99 119 134 153 173 193 213 
10   44   78 10 40 70 85 100 120 135 154 174 194 214 
11   45   79 11 41 71 86 101 121 136 155 175 195 215 
12   46   80 12 42 72 87 102 122 137 156 176 196 216 
13   47   81 13 43 73 88 103 123 138 157 177 197 217 
14   48   82 14 44 74 89 104 125 139 158 178 198 218 
15   49   83 15 45 75 90 105 111 140 159 179 199 219 
16   50   84 16 46 61 76 106 112 141 160 180 200 205 
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17   51   85 17 47 62 77 107 113 142 161 181 201 206 
18   52   86 18 48 63 78 108 114 143 162 182 202 207 
19   53   87 19 49 64 79 109 115 144 163 183 203 208 
20   54   88 20 50 65 80 110 116 126 164 184 204 209 
21   55   89 21 51 66 81 91 117 127 158 165 185 210 
22   56   90 22 52 67 82 92 118 128 159 166 186 211 
23   57   91 23 53 68 83 93 119 129 160 167 187 212 
24   58   92 24 54 69 84 94 120 130 161 168 188 213 
25   59   93 25 55 70 85 95 121 131 162 169 189 214 
26   60   94 26 56 71 86 96 122 132 163 170 190 215 
27   61   95 27  57 72 87 97 123 133 164 171 191 216 
28   62   96 28  58 73 88 98 124 134 145 172 192 217 
29   63   97 29  59 74 89 99 125 135 146 173 193 218 
30   64   98 30 60 75  90  100 121 136 147 174 194 219 
31   65   99 1 51 61 89 101 120 137 148 175 195 205 
32   66   00 2 52 62 88 102 119 138 149 176 196 206 
33   67 3 53 64 87 103 118 139 150 177 197 207 
34    68 4 41 66 86 104 117 140 151 178 198 208 
 

.  
 

 1.  
. 

.  Z=49,  Jn  
 49. ,  

, .  5  
III , : 
5s25p1. 

 (n 
= 5)  (  

)  –  
. 

 2. ,  
 ( ),  

* ? 
.  

 …3s23p3 ( , 3s23p  3p  3pZ )  
: 15  3s23p 1 3p 1 3pZ

13d0 
 
 

 d – ,  
 3s –  3d – : 

15
* 3s13p 1 3p 1 3pZ

13d1 
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 ( )  
,  – . 

 3.  F2, KCl, HCl.  
. 

 1.  F2 , 
.  

 …2s22p5, : 

2. l  
 ( )  ( l),  

; 
0 – + 

Cl0+  Cl- 
+ + Cl– Cl 

3. l l,  
,  

: 

 
 s-  –  

: 

s – p 
 

 4.  SiC  
. 

.  
(…3s23p2  …2s22p2),  

 ( ).  
 ( ),  

. , 
, . 

 
 

1.  14N  15N.  
. 

2.  d-  
 s-  p- ? ? 
3.  – ,  –  

? . 
4.  S  Se  

 
- - : 
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? ? 
5.  Cu, Ag, Au – ?  

. 
6.  Cu  Zn. 
7.  Si  V  (r=1,34 ),  

? 
8.  Mn  Cl ,  

?  
. 

9.  1020-1025 ,  
. ?  

, ? 
10. : , 

, , , ,  (IV). 
11.  II  

? 
12. , ,  

. . 
 

. . 
13.  

. .  
.  

14. .  
. 

15.  As  Cl ? ? 
. 

16. .  
?  

? 
17.  N2, NaCl.  

. 
18.  N 3,  2 .  

. 
19. , ,  

?  
 Pb . 

10. 2 , CsF.  
. 

11. 2  – , 2S – ?  t , t . 
12.  Cr. . 
13.  NaI  CH4.  

, , ). 
24. : 2 , SiO2, l, Li  

? . 
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25.  
 SiO2. . . 

26.  
? . 

27. ,  
, ? 

28.  Be  Al  
.  

. 
29. ,  

: 2, 2 , SO2, 4. . 
30.  

? 
 

 
 

  –  ( 0
 <.0). 

  –  ( 0
 >0). 

 
 1.  

 Mg 3 ); CaC 3 ); BaCO3 ). 
.  

0  ( )  G0  ( ).  
, .  

 0  G0 : 
 

 0 ,  G0 ,  
Mg 3  -1096,21 -1029,3 
Ca 3  -1206 -1128,8 
BaCO3 -1202 -1164,8 

 G  ,  
 Mg 3 CaC 3 BaCO3  (  CaC 3  

BaCO3 , . 00
33

GH  
 

 2.  
: 

4 )+ 2 ) )+2 2 ) 
.  G0

298  
 G0

298 .1    
.2). ,  G0

298  G  
,  

,  0,  G0
298 :  

G0
.= G0

.- G0
. 
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G0

.=2(-137,27)+2(0)-(-50,79-394,38)=+170,63  
,  G0

298 0,  
=298  1,013 105  

(760 .=1 ). 
 1 

 G0
298, 

  G0
298, 

 
3  -1138,8 FeO  -244,3 
3  -1128,75 H2O  -237,19 

Fe3O4  -1014,2 H2O  -228,59 
3  -944,75 PbO2  -219,0 

  -604,2   -137,27 
  -581,61 CH4  -50,79 
  -528,4 NO2  +51,84 

2  -394,38 NO  +86,69 
NaCl  -384,03 C2H2  +209,20 
ZnO  -318,2    
 

 3.  0, S0, G0 ,  
 

Fe2O3 )+3C=2Fe+3CO. 
 Fe2O3  

 500  1000 ? 
. .  S .  ( , S –  

): 
0

.= 0
.- G0

. 
S0

.= S0
.- S0

. 
0

.=[3(-110,52)+2 0]-[-822,10+3 0]=-331,56+822,10=+490,54  
S0

.=(2 27,2+3 197,91)-(89,96+3 5,69)=541,1  
 

 
G0 = 0 S0: 

G 99,219
1000

1,54150054,490500  

G 56,50
1000

1,541100054,4901000  

 G500 0,  G1000 0,  Fe2O3  
1000  500 . 
 

 4.  Fe2O3  
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Fe2O3 ( )+3 2 ( )=2Fe ( )+3 2  ( ), =+96,61 .  
,  S=0,1387 

/( )?  Fe2O3? 
.  G0 : 

G0 = 0 S0=96,61-298 0,1387=+55,28 . 
 G0 0, ; 

,  
). ,  G=0: 

S; .5,696
1387,0

61,96
S

T  

,  696,5 ,  
 Fe2O3.  

. 
 

. 
31.  1  ( .)  56,053 .  

,  
.  C2H2 ). 

32.   0, S0, G0
500  Fe2O3 )+3 2=2Fe( )+3 2 ). 

33.   TiO2 )+2 )=Ti( )+2 ).  
0, S0, G0

1000. ? 
34. : 

Fe2O3 ) + 3C( ) = 2Fe( ) + 3CO2 ); 
? 

35.    
.  

,  100 ? 
36.  32,5 .  

 
. 

37.  CO( ) ,  
 CH4 )   H2O ( ).  

,  67,2  
? 

38.  1  12,76 .  
.  –  

? 
39. ,  

NO( ). ,  
 1  NH3 ). 

40.   S  Fe2O3+3/2 )=3/2 2 )+2Fe( ).  
. 

41. . H0
298 = 356,1 

, H0
298 = 396,3 .  
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.  
.  

42.  
 1  C2H6 ),  

.  1 3  
. 

43. : 4( ) +  2( )  = 2 ) +  2 2( ). 
. 

44.  G0
,298  S0

,298,  
 Al2O3 )+3SO3 )=Al 2 (SO4 )3 )  298 . 

45.  0
,298  0

298  
Zn(NO3)2 )=ZnO( )+2NO2 )+1/2 2 ). 

46.  
.  

, .  
,  10  

? 
47.  G0

,298, , : 
2 2 )+Ag2 )=2Ag( )+ 2 )+ 2 ) 
Cr(OH3)( )+3J2 )=CrO3 )+2HJ( ). 

48.  G0
,298  S0

298,  
,  44,81 2 6,  

. 
49.  AlCl3?

 2AlCl3 ) Al2Cl6 ),  G0
298  AlCl3 )  Al2Cl6 ) 

 – 571,6  1219,2 . 
50. : 

4NH3 ) + 3O2 ) = 2N2 ) + 6H2O( ); H = 1530,28 .  
 NH3 ). 

51.  G0
,298  S0

298,  G0
298, 0

298  S0
298  

 N2H4. 
52. , . 

. 
53.  G0

,298  S0
298, ,  

 1  AgN 3? 
54.  N2O  

.  –877,76 .  
 

N2O(r). 
55.  HCN?  

 298  1000 . 
   ) NH3 )+ )=HCN( )+ 2 ) 
   ) 1/2 2 )+ )+1/2N2 )=HCN( ) 
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56.  HCl, HBr, HJ : -
124,0 , -100,0  -48,0 .  

? 
57. : 
   MnO( )+ 2 )=Mn( )2 )        G0

298=-120  
   Mn2O3 )+3 2 )=2Mn(OH)3              G0

298=+76 . 
 MnO  Mn2O3  

. 
58. : 
Na( )+1/2F2=NaF( )   -544,0  
Na( )+1/2Cl2 )=NaCl( ) -400,0  
Na( )+1/2Br2 )=NaBr( ) -344,0  
Na( )+1/2J2 )=NaJ( )  -268,0  

? 
 
59. : 
                 0           S0  G0 
S( )+ 2 )=SO2 )   -70,9  2,7  -71,7 
SO2 )+1/2 2 )=SO3 )  -23,7  -22,5  -17,0 
SO3 2 )= 2SO4 )  -35,4  -73,2  -32,5 

 SO2  SO3. 
60. : 

. , 
 

 0  S0  
Sn ( ) 0 60 
Sn ( ) -2 40 

, . 
 

 
 

 
 – ,  

.  
,  

.  
, ,  

, . ,  
.  

, .  
. 

 –  
 

. 
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t
v , 

 – .  «+» 
,  

,  «-», ,  
.  

 
 : 

1) . , ,  
, ,  

 
 ( ); 

2) .  
 

.  ,  
, , 

.  
 ,  

) .  
, . . , ,  

, , , 
. , 

,  
. 

,  
.  

. 

St
Cv 1 , 

 S – . 
3) .  

  (1884 .)  
 10 -

. 

10
12

12 TT

TT , 
 v(T1)  v(T2) -  1  2, ; 

 – « » -  (  
),  
 2  4. 
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 1.  2,8.  
 20  

75 0 ? 
.  

: v(T2) / v(T1) = 10
12  = 2,85,5 

lg V(T2) / V(T1) = 5,5 · lg2,8 = 2,458,   
V(T2) / V(T1)= 287 

:  287 . 
 

4) .  
 
 

,  
 ) . 
, : n  + mB = pC + qD,    

:  
 = k [ ]n ]m. 

 [ ], [ 2] – ,  k 
,  

. 
 

,  
.  

,  
.  

 
.  

,  
.  

 2. : NO( .) + O2 .)  NO2 .), 
 3 ? 

. : 2NO( .) + O2 .)  
2NO2 .) 

:  1 = 
k[NO]2[O2]. 

 
 3 . , : 2 = k(3[NO])2(3[O2]) = 27 k [ 

NO ]2[O2]. 
 1  2 ,  

27 . 
:  27 . 

 
5) .  

,  
. 
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 (  
).   

 –  (  
),  

, .  
,  

. 
 

 : 

RT
Ea

eZPk  , 
 Z- , , 

R- ,  - ,  
. 

 3.  
 75,24 ,  – 50,14 .  

,  
 298 . 

.  
1, 2;  

 k  k’. : 

RT
EE

RT
E

RT
e

e

e
k
k 21

1

2

1

2 : 

;4,4
298314,83,2

10)14,5024,75(
3,2

lg
3

21

1

2

RT
EE

k
k  

 :  4

1

2 105,2
k
k  (25 ). 

 
6) .  

– , ., 
.  

,  ( , 
, .).  

, . , 
,  . 

7) . ,  
 

,  .  
.  

, . 
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 ,  
.  

 ,  
.  

,   ( ) .  
,  

,  : 
, , -

,  (  
), .  

 1. ,  
, , 

, ,  
. 

 2. ,  
 
 

,  –  
. 
,  

 
. 

 3.  
. 

 4.  
,  

. 
  mA+nB pC+qD (  n, m, p  q  

, ,  D)  .  
,  

 C  D .  
,  

.  
,  

: 
v .=k . ]m ]n, v .=k . ]p[D]q      v .= v .  

pnm

qp

K
BA
D

.

.

k
k

.  

 
 
 

.  
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: 

RT
G

K Tp
p

,ln      

 4.  
 6,25·10-2.  HI 

? 
.  HI:  

2HI( .)  H2 .) + I2 .) 
 HI  ( ).  

 
, , , 

 0,5 . , 
:      [HI]=(C – x) ;  [H2] = [I2] = 

0,5  
: 

 = 2
22

IH
I  

2
2

)(
5,05,01025,6

xC
xx ,   = 0,333 

 – 100%, =33,3%  
: 33,3% 

 
 5. : ) 

.) + l2 .) l2 .); ) 2HI( .)  H2 .)  +  I2 .),  
. 

. )  
, . . 

, ,  
. 

) , 
. 

 
 6. , , 

:  
) + 2 .) .) + 2 .) . 

.  = - Gp,T / (R · T) , =1 
.  

G0
T =  H0

T - T S0
T ,   =  H0

T / S0
T. 

,    = 131,3  , S = 
0,1336  ,   = 131,3 / 0,1336 = 983 .  

: 983 . 
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61. : 2 .) + .) 2 .),  

 2 ,  
 4 ?  

? 
62. : 2 .) 

+  2 .)  2 .),   4  
?  

63.  
: l2  CO + Cl2, H = -113 ; 2  = 2 + , H = -

171  2SO3 = 2SO2 + O2, H = 192 ? 
64.  2 :  – 1  

2 ,  – 2  1  
.  

, : )  U1= k 1 ][ ]; ) 
 U2 = k2 ]2 ] ? 

65. : A( .) + B( .)  2C( ) + D( .) 
: [A]=0,03 ; [B]=0,01 ; [C]=0,008 

. ?  
? 

66. : NO( .) + 2 .)  NO2 .),   )  
 3 ;  )  3 ; )  

 NO  3 ? 
67. ,  

 30  15,6 
? 

68. ,  
 40 0 ,  

 3. 
69.  2,3.  

 25 
. 

70.  25 0 .  
 75 0 ,  

. 
71. : .) + 2 .) .) : [ ] = 0,06 

; [ ] = 0,12 ; [ ] = 0,216 .  
.  

72. : SO3 .)   SO2 .)  +  2 .), 
G.  

73. : 
2( )+ .) = 2 ),  H= -172,6 .  

;  
?  



 17

. (  
 2 ).   

74. ,  
   2  +   2     1000 ? 

75.  : F .) + .)   F .) + 2 .)  
 0,5.  

2,  0,05  0,01 
. 

76. , ,  
 0,02 ,  

I – 0,03 . . 
77.  N2 + 3 2  2N 3 ;  H= -92,4 

 ?  
 

,  3 .  
?  

.  
 78.  (IV)  

 (II) : [N 2] = 
0,06 , [N ] = 0,24  [ 2] = 0,12 .  

 (IV). 
79.   :                    

Cl5( ) Cl3( ) + Cl2( ); H= 92,6 . : ) ; ) 
; ) , ? 

.  
? ? 

. 
80. : N2 4  N 2,  

 N2 4  0,08 ,  
 50%  N2 4. 

81. : 2 .)  +  2 .)  2 .), 0 =  -
483,6   ) ; ) .  

. 
82. .) + 2 .) 2 .), 0= –

556 ) ; ) .  
. 

83.  N2 .) + 2 .)  N .), 0= 180 
) ; ) .  

. 
84. ,  

: .) + 2 .) 2 .) + 2 .)  298  1000 . 
85. , l( .) + 

2 .) 2 .) + l2 .) . 
86.  20 0C  3 .  

 100 0 ,  2? 
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87. ,  298 ,  
 4 ? 

88. ,  300 ,  
 15 ? 

89.  95 ,  
 – 80 .  

,  310 . 
90.  80 ,  

 – 66 .  
,  290 . 

 
.  

 
 

, 
 (  

, )  
, . 

 
 1.  

: a) KCN, ) N 2 3,  )  ZnS 4.  
. 

: 
)  KCN -  HCN  

.  KCN  
+  CN-. +  

- ,  — .  CN-  
+ ,  HCN.  

, , .  
: 

CN- + 2   HCN + -,  
: 

                       KCN + H2O  HCN + KOH 
 

-,  KCN  (pH>7). 
)  Na2 3  -  

. 3
2-,  

, 3
- , 2 3,  

3
- , 2 3.  

. . 
                                         

3
2- + 2  3

- + -,        
 

    Na2 3 + H2O  NaHCO3 + NaOH 
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-,  Na2CO3  
 ( > 7). 

)  ZnS 4 -  Zn(OH)2  
 H2SO4.   Zn2+  

,  ZnOH+.  Zn(OH)2  
,  ZnO +  ,  

 Zn(OH)2. . 
.      

Zn2+ + H2O  ZnOH+ + +,     
 

                      2ZnS 4  + 2H2O  (ZnOH)2 4 + H2 4. 
,  ZnS 4  

 ( <7). 
 

 -  
2+ g2+ (  Fe2+),  1  ( ).  

 20,04 2+  
12,16 g2+. 

 
 2.  

.  ( ), 
 0,25  16,20 , 2,92  

, 11,10  9,50 . 
.    

 
, . 
       

 (  (  
)): 

3)2      = /2 = (40+(1+12+16·3)·2)/2=162,11/2 = 81,05 ; 
 Mg(HCO3)2     = /2 = 146,34/2 = 73,17 ; 
 CaCl2                = /2 = 110,99/2 = 55,49 ; 
 MgCl2               = /2 = 95,21/2 = 47,60 . 

 
   

 Ca2+, Mg2+, Fe2+  
,  1 : 

3

3

2

2

1

1

V
m

V
m

V
m …, 

 m1,  m2,  m3 –  (  
), ; 1,  2,  3 –  

); V – , . 
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56,280,080,016,080,0
25,960,47

5,9
25,049,55

10,11
25,017,73

92,2
25,005,81

2,16 -

.        
 3.  CaS 4  1  3 ,  

, ,  4 ? 
.  CaS 4 136,14 ;  

 136,14/2=68,07 .  1 3  4  
4•1000= 4000 ,  4000 68,07=272280  = 272,280  CaS 4. 

 
 4.  

, .  
 50  

 7,4  Ca(OH)2  5,3  Na2CO3.  
. 

.  Ca(OH)2  
,  Na2CO3 – .  

: 
Me(HCO3)2 + Ca(OH)2 = MeCO3 + CaCO3 + 2H2O 
Me(NO3)2 + Na2CO3 = MeCO3 + 2NaNO3 
(Me2+: Ca2+, Mg2+, Fe2+ .) 

-
, ,  

 – : 
 = mCa(OH)2/( Ca(OH)2 V);         = mNa2CO3/( Na2CO3V); 

Ca(OH)2 = /2 = 74,09/2 = 37,04 ; 
Na2CO3 = /2 = 106,00/2 = 53,00 ; 

 = 7400/(37,04·50) = 4 ; 
 = 5300/(53,00·50) = 2 . 

  
 =  +  = 4 + 2 = 6  ( ). 

 
. 

91.   N 2 3  c : 
) l, ) NaOH, ) u(NO3)2,  )  K2S.  

? ?  
. 

92. 12(SO4)3 : 
a)  H2SO4,  )  ,  )  Na2SO3,  )  ZnSO4.  

? ?  
. 

93.  
: FeCl3  FeCl2? ? -

. 
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94.  
: NaCN  NaClO? ?   -

. 
95.  

: MgCl2  ZnCl2? ? -
. 

96.  
: Na2CO3  Na2SO3? ? -

.                  
97.  FeCl3,  :  )  1,  )  ,  )  ZnCl2, ) 

Na2CO3.  (III) ? ? 
   

.                         
98.  CsNO3, BiCl3,  2 r2 7  

 ( ).  
 BiCl3 2 r2O7. 

99. ?  
?  

3)2  1 3 ,  3 
.  

100. ,  1  100  
3)2, Mg(HCO3)2  Fe(HCO3)2.  

101.  1 3 ,  
,  7,2 ? 

102.  100 ,  
Mg(HCO3)2,  4  NaOH. , 

. 
103. ,  0,324  

.  2 3  
?  

104. ?  
,  1   0,005 .  

105. ,  
: ) , )  

? ,  
50  10,8  Na2B4O7.  

106.  50 3)2  15   CaSO4.  
 1 3  

? 
107.  3,18 .  Na3PO4  

,  1 3 ?  
108. ,  202,5  Ca(HCO3)2 

 285  MgCl2. 
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109. , ,  1  240  
MgSO4.  100  

? 
110. , ,  100  

,  
 5 ?  

 
 

 
  (%) –  

 ( ),  100  ( ). 
 ( ) –   

,  1 . 
 (m) -    , 

 1  (H2O). 
  ( ) –  

,  1 . 
 (Ni) –  

  , . 
 

.  1  10%-  ( .1,092 3)  0,5  
5%-  ( . 1,045 3).  2 .  

. 
.  1  10%-  1092 .  

 1092 10/100 = 109,2 .  0,5  5%-  
 1045 0,5 = 522,5 .  522,5 5/100 = 

26,125 . 
 (2 )  

109,2 + 26,125 = 135,325 ( ).  = 
135,325/2 56,1 = 1,2 ,  56,1  - . 

 
111. . ,  

1,5  1381,6 2. ? 
112. .  

,  0,1094  100,8 3 
 ( .). 

113.  
?  150  14 .  

.  
114.  H2SO4, 

 22  378 2 ,  
 1,045 3.  

115. .   
Na3PO4,  500  

 1,34 10-2 .  
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116.  NaOH,  200  
 0,15.  

117.   FeCl3,  0,5  
. 

118. ,  200  
 HCl   5 ,  

 3,2 .  
119.  AgCl ,   100 3 

 AgNO3,   50 3 0,2  HCl.  
 AgNO3?  AgCl ? .  

120.  16%    
 1,149 3.  

121.  H2SO4 c  5 , 
 300  

 0,2 . 
122. ,  2  Cu(NO3)2  

 180  0,2 . 
123.  50 3  25 3 0,5  

. ?  
124.  96%-  1,84 3  

 3  0,4 ?  
125.  HNO3 ,  

 35 3 0,4  NaOH?  
 

 
 

 1.  PbSO4  2,3 10-8. 
: )  Pb2+  SO4

2-; )  ( %  
). 
.  PbSO4 Pb2+ + SO4

2-  
PbSO = [Pb2+] [SO4

2-] 
 PbSO4  

. ,  [Pb2+] = [SO4
2-

] = . : 2,3 10-8 2,   =  

2 3 10 8, =1,5 10-4 . 
, [Pb2+]=[SO4

2-]=1,5 10-4 ,  
 1,5 10-4 . 

 ( ) ,  
 (  PbSO4 

 303 .): 
 1000  1,5 10-4 303  
 100  -----------------------------  

1,5 10-4  303 100 
 =  ------------------------ = 4,5 10-3 % = 0,0045% 
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1000 
 2.  Ag3PO4  

 200C  6,15 10-3 . . 
.  Ag3PO4 = 418,58 . , 

: 
6,15 10-3 

---------- = 1,6 10-5  
418,58 
 

.  
Ag3PO4  Ag+  (PO4

3-),  
: [PO4]3- = 1,6 10-5  

[Ag]+ = 31,6 10-5  
 Ag3PO4 : 

 Ag3PO4 =  [Ag+]3  + [PO4
3-] = (4,8 10-5)3 (1,6 10-5) =  1,77 10-18 

 3.  MgS  250  
 2,0 10-15.  

 0,004  0,0006   ? 
 1. 

.  
,  

, . 
[Mg(NO3)2] = 0,004/2 = 0,002  
[Na2S] = 0,0006/2= 0,0003  

 Mg2+  S2-  
, . 

[Mg(NO3)2] = 0,002  = 0,001 ;                       [Mg2+] = 1 10-3 ; 
[Na2S] = 0,003  = 0,00015 ;                               [S2-] = 1,5 10-4  

,  [Mg2+] [S2-] =  
= 1 10-3 1,5 10-4. 

,  
. 

126.  BaCO3  8,9 10-5 .  
.  

127.  PbI2  8,7 10-6.  
 Pb2+  I- .  

128.  AgI  1,2 10-8 .  
 AgI 

129.  Fe(OH)3  1,9 10-10 .  
 Fe(OH)3.  

130.  2  250  2,2 10-4    
.  AgBr. 
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131.    2,45 10-3 .  
 BaSO4.  

132.  CaCO3  180  6,9 10-5 .  
 CaCO3.  

133.  PbBr2  180  2,7 10-2 .  
   PbBr2.  

134.  BaCO3  8,9 10-4 .  
  [Ba2+]  [CO3

2-] ( ),  BaCO3. 
135.  PbSO4    2,3 10-8.  

 1  PbSO4?  
136.  CaSO4  6,0 10-5.   

aSO4 ,  0,2  CaCl2  Na2SO4.  
137.  CaCO3   4,8 10-9. , 

   0,001  CaCl2   Na2CO3?  
138.  AgCl  1,6 10-10. ,  

 20  0,01  KCl  6  0,01  AgNO3 

139.  Ag2Cr2O7   2,0 10-7.  
 0,01  AgNO3  K2Cr2O7 .  

140.  6  PbSO4   0,186  
 (11). .  

141.  =    2,3 10-8.  
,  0,1  Na2SO4   0,1  

 Pb(CH3COO)2?  
142.  MgF2  7,0 10-9.  

. 130.  
,  5  

 0,05 .  
143.  1  BaCO3,  

 1,9 10-9?  
144.  AgCl  250  1,3 10-5 .  

 
. 

 
 

 
. .3 «  

 ( 0 )  ( )» 
,  

 
. , ,  

.  
 

.  
:  
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_
n  +)(H   =  OmH  +     n

m22 ;  
  n  - , .  

  , 
 –  

.    
.  ( , 

, .).  
 –    

 ( 0 ). 
 

,  
 ( ),  1 , 

,  
 25  ( 0 =0; 00G ). 

 
 ( 0 ),  . 

 
,  

.  0 ,  
 
 

, . ,  
. -

,  
, ,  

.  00G ,  nFEG0 ,  n  - 
, ; F – ;  – 

.  
:  

  . 
 

 1. ,  
 ( . .3). ,  

 0,001 ,  
 –  0,1 ? 

:  ( )  
.  

=298 =1 ): 

C
n

lg059,00  , 

 0  – ; n  - , 
;  –  (   
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-  aMe) , ; 0  
 –0,250  –0,277 .  

: 

339,0310lg
2
059,025,2

/2 NiNi
, 

307,0110lg
2
059,0277,0

/2 CoCo
. 

,  
. 

 
2. .  

 –2,363 .  
 ( ). 

.  
 ( .  1): 

,lg
2
059,037,241,2 C  

,lg0295,004,0 C  

6441,
_
23559,1

0295,0
04,0lgC , 

Mg
C /2102,42 . 

 3. ,  
,  

 1 . , 
?  

, , . 
.  

(-) Mg | Mg2+ || Zn2+ | Zn (+). 
 

,  –  –  
 ( ,  
).  (-2,363 )  , 

: 
2_

20 MgeMg                                                (1). 
,  –0,763 , - , .  

: 
0_

22 ZneZn                                                  (2). 
,  

/, ,  
 (1) (2) : 
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0220 ZnMgZnMg . 
 

.  
1 ,  

: 
607,1)37,2(763,0

/2/2 MgMgZnZn
. 

 
 

 
145.  Zn+2Ag+ Zn2++2Ag,  298  

.  
 1 .  

, 
. . 

146. ,  
? ,  

 
,  

0,001 ,  0,01  
. 

147. ,  
:  Mg  +  Zn2+ Mg2++ Zn; aZn2+=10-2 , àMg2+=10-3 . 

. 
148. ,  298  

: Cd+Cu2+ Cd2++Cu; à Cu2+=10-3 , Cd2+=10-2 .  
. 

149. ,  298  
: Fe+2Ag+ Fe2++2Ag,  Fe2+=10-2 , Ag+=10-3 . 

. 
150.  g+=10-1           

a g+=10-4 . ,  
, . . 

151.  aZn2+=10-2           
aZn2+=10-6 . ,  

, . . 
152.  Cu2+  ,  

: Zn+Cu2+ Zn2++Cu,  298  1,16  
aZn2+=10-2 . . 

153.  Pb2+  
 298  

? 
154. ,  

,  
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, :  0,01 ,  -  0,1  
 Al(NO3)3. 

155.  
, ,  

Cr3+.  Cr3+,  
 0. 

156. ,  
,  

 ZnSO4,  [Zn2+]=0,01 .  
,  

. 
157.  

 
.  
. 

158. ,  
, ,  

  Cd2+ = 0,1 ,  Cu2+ = 0,01 . 
159.  

  Ni(NO3)2  Co(NO3)2.  
,  

?  
. 

160.  
,  

 [Cu2+]=0,1 . ,  
 

. 
161. ,  

, .  
.  

), ,  [ 2+]=0,01 . 
162.  

 
.  
 

163. ,  
,  

,  0,1 
. 

164. ,  
,  MgCl2, 

 [Mg2+]=0,001 .  
. 
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 1.  
 CuSO4  1  4A,  

100%? .  
.     

iB
F

tImm    ,                                               (1) 

 m – , ;  m  – 
;   I – , ;  t –  

, ; F – ,  96500  ;  i – , % .  
 CuSO4 :  

B
A

Cum /77,31
2
54,63

)( , 

 – ,   – .  
   (1)  m =31,77  ,  I  =  4  ,  t  =  3600  ,  i=1, 

  

m 74,41
96500

3600477,31 . 

: 
: :  02 Cue2Cu    

 
:     :  O2H2O

2
1e22  

 
 2. , ,  

 3880  
 11,742 . 

.   (1) m /35,29
3880

96500742,11 ,  

QtI  - , . 
 
  3.  

2SO4,   1  
40  25  ,  1,4 ? 

.  (1) 
tm

mFI ,   

,  
m
m  

)2(

2

H

H

V

V
,  

2HV  

, ; )2(HV = 11,2 , t = 6025 c (1  

40  25 = 6025 c).   :   
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tV

FV
I

H

H 2
60252,11

965004,1

)2(

2  

 
: OHHOH 2  2

442 2 SOKSOK  
: 

 
: : 0

222 HeH    
 

:  : OHOe 222
122  

,  2
4SO . 

,  
) ,  

. .3 «  ( 0 ) 
 ( )»  

.    
 

. 
165. ,  

 3-  13,4 ,  
 50%. . 

166.  
: ) ; ) .  

,   
 26,8  1 .  

50%,  - 100%. 
167. ,  2  1  14  24  

 (II)  
 2,94 . ,  

 100%, . ,  
. 

168. ,  2  1  14  24  
 (II)  

 2,94 . ,  
 100%, . ,  

. 
169. . . 2  448 . 

,  
, ,  100 . 

170.  
 560 , . .  

? . 
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171.  
 6,7 ,  5,6 

, . .  
 70%. . 

172. ,  
.  

. .,  13,4  2-  
. 

173. ,  
: )  MgCl2, )  MgCl2.  

 2 ,  
 2,43  ( ) ) ). 

174.  PbSO4  2 F .  
 Pb2+ , : ) , ) . 

 50%,  - 100%. 
175. , , ,  2,5  

SnCl2  30  2,77 .  
 SnCl2. 

176.  Cr2(SO4)3 ,  2  
 8 . ? 

, . 
177.  8  

,  0,8805 ? (  
). 

178. : ) 
 NaBr; )  NaBr. ,  

 3,2 . 
179. ,  

: ) , )  
. ,  

  6  2- . 
180.  (III)  2  

 8 .  
,  50%.  

. 
181.  CuSO4  168 3  ( .) 

, ,  
, . 

182.  
,  Ni2+, Cu2+, Ag+, Fe2+.  

 NiSO4.  
,  13,4 . 

 80%. 
183. 2 4  

 2,68  1 . , 
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, .  
. 

184. ,  CdCl2 
 1  5,62 ,  

5,36 .  CdCl2. 
 

 
 
. .3  «  

 ( 0 )  ( )» 
 –  

 
. 

 
: 

1)   – :  20 Meen . 
2)  –  ):       

2
e22 ,   ,   

): e 44222 .     
  , ,  

.  –  
 – . 

 
 1. ,  

.  
. ? 

.  (-0,763 ),  
 (-0,403 ), ,  - . 

 
:     :  20 2 ZneZn  
: 

)  
 

)  

 
:  

2
22 e       

:  e 22222
1  

 Zn2+  
,  Zn( )2. 

 
. 

185. , ,  
, .  

? ?  
. 
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186.  
 Mg - Pb. 

187. , , 
, . 

188.  
 Al - Pb. 

189.  
,    

. 
190.  

.  
. .  

191. , 
.  

.  
. . 

192. , ,  
, .  

.  
. 

193. .  
 

.  
. 

194. . ?   
? ?  

 
.  

. 
195. , . 

,  
.  

, . 
196.   . 

,  
. . 

197. . ? , 
, , ,  

. ,  
.  

. 
198.  

.  
.   



 35

199.  
 Mg - Ni. 

200. , , 
, . 

201.  
 Al – Ni 

202. , ,  
, .  

. .  
  .  

. 
203. , , 

.  
.  

204. ,  
 Sn-Zn . 

 
 

 
205.     

. 
,  

 160000. 
206. ,  

  300.  
. 

207.  ( .)  5,6  
?  ( ) ,  

 100? .  
 208.  

? .  
?  

? 
209. .  

  .  
. 

210. , . 
. 

211.  
?  -   
. 

212. . 
.  

. 
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213. .  
.  

. 
214. .  

? 
215.     CF2 = CF2.  

? 
216. .  

. 
217. .  

. . 
218. . 
219. ,  

  200.  
  . 

 
 

 
1. . : . .  / 

. ; . . - 2- .,  - .: 
, 2007. 

2. : . .  / 
. ; . . - 11- ., . - .: , 

2009. 
3. . . .- .: , 

2009. 
4. :  / . .  

; . . . - .: ,  2008 
5. .  « » . 

 2002 . 
6. :  /  

. , . , . .- .: ., 2004. 
7. : / . .  

; . . . - .: , 2003. 
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 1. 

 ( )  
 

 
 

 
 

   
, 

 

-
, 

 
1 2 3 4 5 
1 I H 1354 2,15 
2  He 24,48 - 
3 II  5,37  1 
4  Be 9,3 1,5 
5  B 8,28 2,0 
6  C 11,24 2,5 
7  N 12,54 3,0 
8  O 13,61 3,5 
9  F 17,42 4,0 

10  Ne 21,55 - 
11 III Na 5,14 0,9 
12  Mg 7,64 1,2 
13  Al 7,98 1,5 
14  Si 8,14 1,8 
15  P 10,55 2,1 
16  S 10,35 2,5 
17  Cl 13,01 3,0 
18  Ar 15,75 - 
19 IV K 4,23 0,8 
20  Ca 6,11 1,0 
21  Sc 6,56 0,9 
22  Ti 6,73 1,5 
23  V 6,74 1,6 
24  Cr 6,76 1,6 
25  Mn 7,43 1,5 
26  Fe 7,90 1,8 
27  Co 7,89 1,7 
28  Ni 7,63 1,8 
29  Cu 7,72 1,9 
30  Zn 9,39 1,6 
31  Ga 6,00 1,6 
32  Ge 7,88 2,0 
33  As 9,81 2,0 
34  Se 9,75 2,4 
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35  Br 11,84 2,9 
36  Kr 13,99 2,9 
37 V Rb 4,18 0,8 
38  Sr 5,69 1,0 
39  Y 6,38 1,2 
40  Zr 6,83 1,4 
41  Nb 6,88 1,6 
42  Mo 7,13 1,8 
43  Tc 7,23 1,9 
44  Ru 7,36 2,2 
45  Rh 7,46 2,2 
46  Rd 8,33 2,2 
47  Ag 7,57 1,9 
48  Cd 8,99 1,7 
49  Zn 5,78 1,7 
50  Sn 7,33 1,8 
51  Sb 8,64 1,9 
52  Te 9,01 2,1 
53  I 10,44 2,5 
54  Xe 12,12 - 
55 VI Cs 3,78 0,7 
56  Ba 5,81 0,9 
57  La 5,61 0,9 
72  Hf 5,5 1,3 
73  Ta 7,7 1,5 
74  W 7,98 1,7 
75  Re 7,87 1,9 
76  Os 8,7 2,2 
77  Ir 9,2 2,2 
78  Pt 8,96 2,2 
79  Au 9,22 2,4 
80  Hg 10,43 1,9 
81  Tl 6,1 1,8 
82  Rb 7,41 1,8 
83  Bi 7,27 1,9 
84  Po 8,2 2,0 
85  At 9,2 2,2 
86  Rn 10,74 - 
87 VII Fr 3,98 0,7 
88  Ra 5,27 0,9 
89  Ac 6,89 1,1 
104  Ku - - 
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 2. 
 ( )    0

298; 
 S0

298        G0
298 

 
 0

298 
 

S0
298 

 ( ) 
G0

298 
 

 
Ag ) 0 42,55 0 

l( ) 0 28,33 0 
Br( ) 0 152,21 0 

C( ) 0 5,74 0 
Cl( ) 0 222,95 0 
Cu 0 33,14 0 

Fe( ) 0 27,15 0 
H2( ) 0 130,52 0 
Hg ) 0 75,90 0 
Mg( ) 0 32,68 0 
N2( ) 0 191,50 0 

2( ) 0 205,04 0 
S , .) 0 32,9 0 

Ti(k) 0 30,6 0 
 

Ag2O ) -31,1 121,0 -11,3 
AgNO3 ( ) -124,5 140,9 -33,6 
Al2O3( ) -1676 49,9 -1582 

Al2(SO4)3 ( ) -3442 239,2 -3101 
2 6 ( ) 38,5 232,0 89,6 

BaCO3( ) -1202 112,1 -1164,8 
aO( ) -553,54 70,29 -525,84 

Ba (OH)2( ) -943,49 100,83 -855,42 
CO( ) -110,53 197,55 -137,15 
CO2( ) -393,51 213,66 -394,37 
CaO( ) -635,09 38,07 -603,46 

CaCO3 ( ) -1206,83 91,71 -1128,35 
Ca(OH)2 -985,12 83,39 -897,52 

CS2 +88,7 151,0 64,4 
C2H2 +226,75 200,82 +209,20 

CrCl3( ) -556,47 123,01 -486,37 
FeO ) -264,8 60,75 -244,3 

Fe2O3( ) -822,16 87,45 -740,34 
Fe3O4( ) -1117,1 146,2 -1014,2 

Fe(OH)2( ) -561,7 88,0 -479,7 
Fe(OH)3( ) -826,6 105,0 -699,6 
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HCl( ) -92,31 186,79 -95,30 
H2O( ) -291,85 (39,33) - 
H2O( ) -285,83 69,95 -237,23 
H2O( ) -241,81 188,72 -228,61 

2 2( ) -187,8 109,5 -120,4 
HCN(  ) 135,0 113,1 125,5 
H2SO4( ) -813,99 156,90 -690,14 
HN 3( ) -173,00 156,16 -79,90 
HgCl2 -229,00 242,3 -197,4 

HgO ) . -90,9 70,29 -58,6 
HgS )  -59,0 82,4 -51,4 
KCl( ) -436,68 82,55 -408,93 

K2Cr2O7( ) -2067,27 291,21 -1887,85 
KMnO4( ) -828,89 +171,54 -729,14 
KNO3 ( ) -493,2 132,93 -393,1 
K2SO4( ) -1433,69 175,56 -1316,04 
MnO2( ) -521,49 53,14 -466,68 
MgC( ) -601,49 27,07 -569,27 

MnSO4( ) -3089,50 348,1 -2635,1 
NH3( ) -46,2 192,5 -16,7 

NH4Cl( ) -314,2 94,5 -203,2 
N2H4( ) -50,50 12,1 149,2 
NaBr -151,86 62,1 - 
NO( ) 91,26 210,64 87,58 
NO2( ) 33 240,2 51,5 

NaOH( ) -426,35 64,43 -380,29 
Na2SO3( ) -1089,43 146,02 -1001,21 
Na2SO4( ) -4324,75 591,87 -3644,09 
Pb3O4( ) -723,41 211,29 -606,17 
PbCl2( ) -359,82 135,98 -314,56 
Pb 2( ) -276,56 71,92 -217,55 

Pb(NO3)2 ( ) -451,7 217,9 -256,9 
SO2 ( ) -296,90 248,1 -300,21 
SO3 ( ) -439,0 122 -368,4 
TiO2( ) -938,6 49,92 -883,3 
ZnO ) -350,6 43,64 -320,7 

Zn(NO3)2( )· 
6H2O 

-2306,8 462,3 -1174,9 

Zn(NO3)2( ) -483,7 - - 
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 3 

 (  0) 
 (  )  298 . 

 
 0 ,  0 ,  

Li+ ( .) + 1e- = Li ( .) -3.045 Cd2+ ( .) + 2e- = Cd ( .) -0.403 
Rb+ ( .) + 1e- =Rb( .) -2.925 Co2+ ( .) + 2e- = Co ( .) -0.277 
K+ ( .) + 1e- = K ( .) -2.924 Ni2+ ( .) + 2e- = Ni ( .) -0.250 
Cs+ ( .) + 1e- = Cs ( .) -2.923 Sn2+ ( .) +  2e- = Sn ( .) -0.136 
Ba2+ ( .) + 2e- = Ba ( .) -2.905 Pb2+ ( .) +  2e- = Pb ( .) -0.126 
Ca2+ ( .) + 2e- = Ca ( .) -2.866 Fe3+ ( .) + 3e- = Fe ( .) -0.037 
Na+ ( .) + e- = Na ( .) -2.714 2H+ ( .) + 2e- = H2 ( .) 0.000 
Mg2+ ( .) + 2e- = Mg ( .) -2.363 Sb3+ ( .) + 3e- = Sb ( .) +0.200 
Al3+ ( .) + 3e- = Al ( .) -1.663 Bi3+ ( .) + 3e- = Bi ( .) +0.215 
Ti2+ ( .) + 2e- = Ti ( .) -1.630 Cu2+ ( .) + 2e- = u ( .) +0.337 
Zr4+ ( .) + 4e- = Zr ( .) -1.539 Cu+ ( .) + e- = Cu ( .) +0.520 
Mn2+ ( .) + 2e- = Mn ( .) -1.179 Ag+ ( .) + e- = Ag ( .) +0.799 
V2+ ( .) + 2e- = V ( .) -1.175 Hg2+ ( .) + 2e- = Hg ( .) +0.850 
Cr2+ ( .) + 2e- = Cr ( .) -0.913 Pd2+ ( .) + 2e- = Pd ( .) +0,987 
Zn2+ ( .) + 2e- = Zn ( .) -0.763 Pt2+ ( .) + 2e- = Pt ( .) +1,188 
Cr3+ ( .) + 3e- = Cr ( .) -0.744 Au3+ ( .) + 3e- = Au ( .) +1,498 
Fe2+ ( .) + 2e- = Fe ( .) -0.440 Au+ ( .) + e- = Au ( .) +1,692 

 
 4 

 
(  - ,  - ,  -  

, ,  
 ) 

                         
 Li+ Na+, 

K+ 
NH+

4 Cu2+ Ag+ Mg2+ Ca2+ Sr2+ Ba2+ 

Cl- P P P P H P P P P 
Br- P P P P H P P P P 
I- P P P - H P P P P 

NO-
3 P P P P P P P P P 

CH3COO- P P P P P P P P P 
S2- P P P H H - P P P 

SO2
3

- P P P H H H H H H 
SO2

4
- P P P P M P M H H 

CO2
3

- P P1 P - H H H H H 
SiO2

3
- P P - - - H H H H 

CrO2
4

- P P P H H P M M H 
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PO3
4

- H P P H H H H H H 
OH- P P P H - H M M P 

 
 4 (  ) 

                     
 Zn2+ Hg2+ Al3+ Sn2+ Pb2+ Bi3+ Cr3+ Mn2+ Fe3+ Fe3+ 

Cl- P P P P  - P P P  
Br- P  P P  - P P P  
I- P  P  H - P  -  

NO-
3 P P P - P P P - P  

CH3COO- P P P - P - - P -  
S2-   - H H  -    

SO2
3

-   - - H H - H -  
SO2

4
- P - P P  -     

CO2
3
-  - - - H H - H -  

SiO2
3

-  -  -  - - H H  
CrO2

4
-   - - H    - - 

PO3
4

- H   H H H H H H  
OH-  -  H  H     
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